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Answer: B

Objective: 4,01

Points: 1

15.

Answer: Example answer: f(x) has a degree of 3
since the leading term is 4x>. As x gets
larger and larger in the positive direction,
f(x) gets larger and larger in the positive
direction. As x gets larger and larger in
the negative direction, f(x) gets larger and
larger in the negative direction.
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Answer; plx) = (x—Dx—2)x+3)
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Answer: C

Points: 1

18.

Answer: Example answer: Because (x +9) is a
factor, the remainder would have to be 0.

Points: 1
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Answer: 4,6

Points: 1
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Answer: (x+5) x+2), x=1, (x—6)

Points: 1 :



